## Bid #2019-027 - Seacrest Blvd from NE 22nd Street to Gulfstream Blvd

Creation Date Feb 13, 2019 End Date Mar 19, 2019 2:00:00 PM EDT

Start Date Feb 14, 2019 10:08:20 AM EST Awarded Date Not Yet Awarded

2019-02701-01 General Conditions: Site Mobilization / Demobilization									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$96,631.39	1 / lump sum	\$96,631.39	Υ					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						
Man Con Inc. [Ad]	First Offer - \$138,000.00	1 / lump sum	\$138,000.00	Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$300,000.00	1 / lump sum	\$300,000.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						

2019-02701-02 General Conditions: Maintenance of Traffic									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$60,331.46	1 / lump sum	\$60,331.46						
		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$70,000.00	1 / lump sum	\$70,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$136,750.00	1 / lump sum	\$136,750.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						

2019-02701-03 General Conditions: As-Built Record Drawings									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$28,866.20	1 / lump sum	\$28,866.20						
		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$30,000.00	1 / lump sum	\$30,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$31,012.00	1 / lump sum	\$31,012.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

2019-02701-04 General Conditions: NPDES Permit									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$460.00	1 / lump sum	\$460.00						
		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$750.00	1 / lump sum	\$750.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$1,000.00	1 / lump sum	\$1,000.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

2019-02701-05 General Conditions: Erosion Control										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rosso Site Development, Inc [Ad]	First Offer - \$13,442.06	1 / lump sum	\$13,442.06							
		Supplier Product Code: Supplier Notes:								
Continental Construction USA	First Offer - \$25,000.00	1 / lump sum	\$25,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Man Con Inc. [Ad]	First Offer - \$63,236.00	1 / lump sum	\$63,236.00							
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:							

2019-02701-06 General Conditions: Indemnification									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Man Con Inc. [Ad]	First Offer - \$10.00	1 / lump sum	\$10.00						
		Supplier Product Code: Supplier Notes:							
Rosso Site Development, Inc [Ad]	First Offer - \$10.00	1 / lump sum	\$10.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$25,000.00	1 / lump sum	\$25,000.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

2019-02701-07 General Conditions: Project Identification Signs								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA	First Offer - \$500.00	2 / each	\$1,000.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Rosso Site Development, Inc [Ad]	First Offer - \$575.00	2 / each	\$1,150.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$2,250.00	2 / each	\$4,500.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

2019-02701-08 General Conditions: Unforeseen Condition Allowance									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA	First Offer - \$40,000.00	1 / lump sum	\$40,000.00						
		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$210,000.00	1 / lump sum	\$210,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rosso Site Development, Inc [Ad]	First Offer - \$210,000.00	1 / lump sum	\$210,000.00						
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

2019-02701-09 General Conditions: Video Allowance								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Man Con Inc. [Ad]	First Offer - \$3,000.00	1 / lump sum	\$3,000.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Rosso Site Development, Inc [Ad]	First Offer - \$3,000.00	1 / lump sum	\$3,000.00					
Product Code:		Supplier Product C	ode:					

Agency Notes:		Supplier Notes:			
Continental Construction USA	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

and Grubbing										
	2019-02702-01 Demolition: Clearing and Grubbing									
Unit Price	Qty/Unit	Total Price	Attch.	Docs						
First Offer - \$25,000.00	1 / lump sum	\$25,000.00								
Product Code:		ode:								
	Supplier Notes:									
First Offer - \$48,177.21	1 / lump sum	\$48,177.21								
	Supplier Product Code:									
	Supplier Notes:									
First Offer - \$190,000.00	1 / lump sum	\$190,000.00								
	Supplier Product C	ode:								
	Supplier Notes:									
	First Offer · \$25,000.00  First Offer · \$48,177.21	First Offer - \$25,000.00 1 / lump sum  Supplier Product C Supplier Notes:  1 / lump sum  Supplier Product C Supplier Product C Supplier Notes:  First Offer - \$190,000.00 1 / lump sum  Supplier Product C	First Offer - \$25,000.00	First Offer - \$25,000.00						

2019-02702-02 Demolition: Pavement Removal									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$8.63	1804 / square yard	\$15,568.52						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Continental Construction USA	First Offer - \$10.00	1804 / square yard	\$18,040.00						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$32.50	1804 / square yard	\$58,630.00						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

2019-02702-03 Demolition: Sidewalk Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA	First Offer - \$5.00	2620 / linear foot	\$13,100.00				
		Supplier Product Code: Supplier Notes:					
Rosso Site Development, Inc [Ad]	First Offer - \$5.12	2620 / linear foot	\$13,414.40				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$11.30	2620 / linear foot	\$29,606.00				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

2019-02702-04 Demolition: Existing Driveway Apron Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA	First Offer - \$9.00	210 / square yard	\$1,890.00				
		Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$16.70	210 / square yard	\$3,507.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rosso Site Development, Inc [Ad]	First Offer - \$30.63	210 / square yard	\$6,432.30				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

2019-02703-01 Roadway: Mill 2 Apshalt & Overlay 2 Type SP-9.5 Asphalt							
Supplier	Unit P	rice Qty/Unit	Total Price	Attch.	Docs		

Continental Construction USA	First Offer - \$22.00	1350 / square yard	\$29,700.00		
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rosso Site Development, Inc [Ad]	First Offer - \$24.68	1350 / square yard	\$33,318.00		
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$35.30	1350 / square yard	\$47,655.00		
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

2019-02703-02 Roadway: Cold In-Place Recycling (CIR) 7-9							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rosso Site Development, Inc [Ad]	First Offer - \$35.71	7630 / square yard	\$272,467.30				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$42.20	7630 / square yard	\$321,986.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA	First Offer - \$105.00	7630 / square yard	\$801,150.00				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

2019-02703-03 Roadway: Asphalt Emulsion (for CIR)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rosso Site Development, Inc [Ad]	First Offer - \$2.63	7 / gallon	\$18.41				
		Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$12.50	7 / gallon	\$87.50				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA	First Offer - \$300.00	7 / gallon	\$2,100.00				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

2019-02703-04 Roadway: Portland Cement (for CIR)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rosso Site Development, Inc [Ad]	First Offer - \$168.00	7 / ton	\$1,176.00				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Continental Construction USA	First Offer - \$600.00	7 / ton	\$4,200.00				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$750.00	7 / ton	\$5,250.00				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

2019-02703-05 Roadway: Added RAP for Aggregate (for CIR)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rosso Site Development, Inc [Ad]	First Offer - \$68.25	7 / ton	\$477.75				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Continental Construction USA	First Offer - \$450.00	7 / ton	\$3,150.00				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$500.00	7 / ton	\$3,500.00				

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

2019-02703-06 Roadway: Pavement Replacement							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA	First Offer - \$37.00	910 / square yard	\$33,670.00				
		Supplier Product Code: Supplier Notes:					
Rosso Site Development, Inc [Ad]	First Offer - \$47.86	910 / square yard	\$43,552.60				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$70.00	910 / square yard	\$63,700.00				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

2019-02703-07 Roadway: Pavement Widening								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA	First Offer - \$37.00	710 / square yard	\$26,270.00					
		Supplier Product Code: Supplier Notes:						
Rosso Site Development, Inc [Ad]	First Offer - \$44.53	710 / square yard	\$31,616.30					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$55.10	710 / square yard	\$39,121.00					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

2019-02703-08 Roadway: Asphalt Pavement - 2 Type SP-9.5 Aspahlt								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rosso Site Development, Inc [Ad]	First Offer - \$18.65	7630 / square yard	\$142,299.50					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$19.20	7630 / square yard	\$146,496.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Continental Construction USA	First Offer - \$24.00	7630 / square yard	\$183,120.00					
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

2019-02703-09 Roadway: Colored Asphalt Coating									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA	First Offer - \$9.00	1970 / square yard	\$17,730.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Rosso Site Development, Inc [Ad]	First Offer - \$52.50	1970 / square yard	\$103,425.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$75.00	1970 / square yard	\$147,750.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

2019-02703-10 Roadway: Type F Curb								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA	First Offer - \$34.00	557 / linear foot	\$18,938.00					
Product Code:		Supplier Product Co	ode:	_				

Agency Notes:		Supplier Notes:		
Man Con Inc. [Ad]	First Offer - \$38.00	557 / linear foot	\$21,166.00	
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Rosso Site Development, Inc [Ad]	First Offer - \$41.24	557 / linear foot	\$22,970.68	
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

2019-02703-11 Roadway: 12 Header Curb									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA	First Offer - \$34.00	1270 / linear foot	\$43,180.00						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$39.20	1270 / linear foot	\$49,784.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rosso Site Development, Inc [Ad]	First Offer - \$44.48	1270 / linear foot	\$56,489.60						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

2019-02703-12 Roadway: Concrete Sidewalk (5 Wide - 4 Thick)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$22.00	2685 / linear foot	\$59,070.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Continental Construction USA	First Offer - \$36.00	2685 / linear foot	\$96,660.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Man Con Inc. [Ad]	First Offer - \$38.00	2685 / linear foot	\$102,030.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

2019-02703-13 Roadway: Concrete Sidewalk (5 Wide - 6 Thick)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rosso Site Development, Inc [Ad]	First Offer - \$28.48	935 / linear foot	\$26,628.80					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Continental Construction USA	First Offer - \$40.00	935 / linear foot	\$37,400.00					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$43.00	935 / linear foot	\$40,205.00					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

2019-02703-14 Roadway: 6 Thick Concrete Driveway Apron									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$48.99	186 / square yard	\$9,112.14						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$70.00	186 / square yard	\$13,020.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Man Con Inc. [Ad]	First Offer - \$73.00	186 / square yard	\$13,578.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

2019-02703-15 Roadway: Curb Ramps Including Tactile Surface Pavers									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA	First Offer - \$80.00	105 / square yard	\$8,400.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Man Con Inc. [Ad]	First Offer - \$88.00	105 / square yard	\$9,240.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Rosso Site Development, Inc [Ad]	First Offer - \$138.10	105 / square yard	\$14,500.50						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

2019-02703-16 Roadway: Bus Stop						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rosso Site Development, Inc [Ad]	First Offer - \$4,088.65	2 / each	\$8,177.30			
		Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$8,326.00	2 / each	\$16,652.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Continental Construction USA	First Offer - \$9,000.00	2 / each	\$18,000.00			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

2019-02703-17 Roadway: Swale Grading									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA	First Offer - \$4.00	4650 / square yard	\$18,600.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	Code:						
Rosso Site Development, Inc [Ad]	First Offer - \$5.60	4650 / square yard	\$26,040.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$7.50	4650 / square yard	\$34,875.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

2019-02703-18 Roadway: Drainage Structure									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$4,725.00	1 / each	\$4,725.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$13,394.00	1 / each	\$13,394.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$14,000.00	1 / each	\$14,000.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

2019-02703-19 Roadway: Modify Existing Drainage Structures								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA	First Offer - \$4,500.00	9 / each	\$40,500.00					
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Rosso Site Development, Inc [Ad]	First Offer - \$4,924.22	9 / each	\$44,317.98					

Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$8,438.00	9 / each	\$75,942.00		
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				

2019-02703-20 Roadway: Pedestrian Signal, LED, Countdown, 1 Direction								
Supplier	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA	First Offer - \$1,200.00	12 / each	\$14,400.00					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Rosso Site Development, Inc [Ad] First Offer - \$5,502.99		12 / each \$66,035.88						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$12,000.00	12 / each	\$144,000.00					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							

2019-02703-21 Roadway: Signing and Pavement Markings								
Supplier Unit Price			Qty/Unit	Total Price	Docs			
Rosso Site Development, Inc [Ad]	First Offer -	\$14,188.58	1 / lump sum					
			Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad] First Offer - \$27,750.00			1 / lump sum \$27,750.00					
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Continental Construction USA	First Offer -	\$95,000.00	1 / lump sum	\$95,000.00				
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				

2019-02703-22 Roadway: Paver Brick Crosswalk								
Supplier	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA First Offer - \$70.00		520 / square yard	re yard \$36,400.00					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	520 / square yard	\$98,280.00						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Rosso Site Development, Inc [Ad] First Offer - \$245.92		520 / square yard \$127,878.40						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							

2019-02703-23 Roadway: Trees/Palms	<b>2019-02703-2</b> 3 Roadway: Trees/Palms									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rosso Site Development, Inc [Ad]	First Offer - \$56,542.50	1 / lump sum	\$56,542.50							
Product Code:	Supplier Product Code:									
Agency Notes:	Supplier Notes:									
Continental Construction USA	First Offer - \$89,000.00	1 / lump sum	\$89,000.00							
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Man Con Inc. [Ad]	First Offer - \$121,050.00	1 / lump sum	\$121,050.00							
Product Code:		Supplier Product C	Code:							
Agency Notes:		Supplier Notes:								

|--|

Supplier	Unit Price	Qty/Unit Total Price Attch.			
Rosso Site Development, Inc [Ad]	First Offer - \$15,120.00	1 / lump sum			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Continental Construction USA	First Offer - \$21,000.00	1 / lump sum \$21,000.00			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Man Con Inc. [Ad]	First Offer - \$33,693.00	0 1 / lump sum \$33,693.00			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				

2019-02703-25 Roadway: Ground Cover									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rosso Site Development, Inc [Ad]	First Offer - \$20,475.00	1 / lump sum	\$20,475.00						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Continental Construction USA	First Offer - \$45,000.00	1 / lump sum	\$45,000.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Man Con Inc. [Ad]	First Offer - \$58,271.00	1 / lump sum	\$58,271.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

2019-02703-26 Roadway: Irrigation (Incl. Rack)								
Supplier		Unit Price	Qty/Unit	Attch.	Docs			
Continental Construction USA	First Offer -	\$132,000.00	1 / lump sum					
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Rosso Site Development, Inc [Ad]	First Offer -	\$161,070.00	00 1 / lump sum \$161,070.00					
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer -	\$232,300.00	1 / lump sum	\$232,300.00				
			Supplier Product Code: Supplier Notes:					

2019-02703-27 Roadway: Conduit and Pullbox for Future Lighting							
Supplier	Unit Price	e Qty/Unit Total Price Attch.					
Man Con Inc. [Ad]	First Offer - \$51,073.00	1 / lump sum	1 / lump sum \$51,073.00				
Product Code:	Supplier Product C	ode:					
Agency Notes:	Supplier Notes:						
Continental Construction USA	First Offer - \$56,000.00	0 1 / lump sum \$56,000.00					
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						
Rosso Site Development, Inc [Ad]	1 / lump sum \$76,650.00						
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						

## Supplier Totals

Fax 561-689-2851

f Rosso Site Development, Inc [Ad] \$1,935,826.76 (40/40 items)

Bid Contact Joseph Rosso Address 111 Vassar Drive

joe3@rossositedevelopment.com Lake Worth, FL 33460 Ph 561-689-0889

Supplier Cod	le 24459			
Agency Not	tes:	Suppli	er Notes:	Head Attch:
f Continer	ntal Construction USA		\$2,463,618.00 (40/40 item	s)
Bid Contact	Juan Jurado info@usacontinental.com Ph 305-704-7396	Address	95 Merryck Way, suite 480 Miami, FL 33134	
Agency Not	ies:	Supplier	Notes:	Head Attch:
f Man Con	Inc. [Ad]		\$2,787,829.50 (40/40 item	s)
Bid Contact	Penny Camarra Katel@mancon.ws Ph 954-427-0230	Address	3460 SW 11th Street Deerfield Beach, FL 33442	
Agency Not	les:	Supplier	Notes:	Head Attch:

<sup>\*\*</sup> All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.